1.

2x+y=3°|1 O p=3 Y
> CF
> ™Eeh 27

o, ab O] Fh

Fstolar,

ab= (3% ¥ =3%H =38 = 27




2. aPxy?x(x%y)t = 9xy0 L o, A4 a, b, c ol ot ab+c Q] 27

@ 10 @ 12 ® 13 @ 14 @21

a’xy? x (x2y)0 = a?x?Fy2h = 9xy06 0|82 g = 3, b = 4,
c=90°]|t}.
wEkA ab + ¢ = 21 0]t




3
3. <—%x2y3) +axby© + <—éx2y3) = x3yt ol a+b+c 9 B 5t
ofzt.
B

>
>3

o
W~

B 1
(—%x2y3>3 +axby® + (—éx2y3)

1 1 8
_ 6,9 _ 3.4
- (—ﬁxy ) Xax”yc % <_x2y3) — Y
a=1,b=1,¢c=2
“a+b+c=4




(2x%y)e + 2xPy x 4x3y? = exty3 D W, la—c + b &

@1 @ 2 @3

@ 4

A

ro9

® 5

~&B

(2x2y)® + 2xPy x 4x3y? = cxty?
20y 2a
o Y x 4x3y% = cxty3

2a+1x2a—b+3ya+1 :cx4y3
29t —¢ 2a-b+3=4 a+1=3
a=2,b=3, ¢c=38

la—c+b|=|-6+3 =3




F= T |
3
= (—3ab?)’ =
0+ (-3ab?) 2
@® 94%p* @ 6a’b? @—9a6b4
@ —6a°b> ® 6ab?

(=27a®b%) = —9a°h*




Ch& ZLR T} o] Wil o] whz)&2o] o]
7} 2a, 017t b Q1 TXH QF Dﬂ 9]

=3
WA 2ol 5a Q) B2 % of Huj7} lg.
He g, 528 00 kolg Tatolel,

B2YL 97159 Rlg T FHL (1) = a(HAF)2x

(&°]) °oltt.

(@] H1]) = 7(2a)? x b = 4a’bn

(©9] 21) = n(50)? x (39]) = 2567 x ()
4a’br = 25a%n x (E£°])




T. (Gx-y4+6)—( )=-2x+y-20°NA () o] &2 229

D -Tx-2y-8 @ -Tx-2y+38 ® Tx+4
(@)7x—2y+8 ® 7x+8

~&B

(bx-y+6)—(-2x+y-2) = ( e =

( )=bx—-y+6+2x—y+2
=Tx-2y+8




11a? —a—4 oA o® A& M 712 T o]® AofA 542 + 9a - 6 =
A3t Avprp gk gk ofE Al S ?
DO -4a>+8a+5 @ 8a?-4a+5 ® —8a%+4a-5

@ 4a®>+8a-5 @8a2+4a—5

S5 ~

o™ A3 A 2t StH

11a®-a-4-A=A- (54> + 9a - 6)

24 = 11a® —a -4+ 54a% + 9a — 6 = 1642 + 8a — 10
A=8da%>+4a-5




g a,b ol okl 3x—by— {y—-2(2x+3y)} =ax+by AW, a+b
o] gL stolat,

> =

> Het: 7

B ‘

3x -5y — {y-2(2x + 3y)}
=3x-5y— (y— 4x - 6y)
= 3x — 5y — (—4x — 5y)

= 3x—5y+4x+ by

= 3x+ 4x - 5y + by
=B+4)x+(-5+5)y
=Tx

oJHE ¢ =17, b=0 °Jt}
La+b=74+0=7




X

3(6—3x)—g(6x—8)—3x:Ax2+BxE}%EHLH, 2A + 3B 9] e
stefe.

10.

> =

> ®™eH: 1

(F4) = 2x — x% — (3x? — 4x) - 3x
= —4x% + 3x = Ax*> + Bx

A=-4 B=3
Z2A+3B=2x(-4)+3x3=1




11. (15xy — 2x3y — 5xy?) + lexy = 7138] 3t o,
Aol g Fotola,

Ct -
[= ]

[ 2
> ™. 32

B

1
(15xy — 2x3y — 5xy?) + R
= (15xy — 2x%y — bry?) + =

= (15xy — 2x3y — 5xy?) x —

xy
= 60 — 8x% — 20y

x* O Al =8, y o] Al 20, &

2~
e

o
N o
S




X

3(6—3x)—g(ﬁx—8)—3x:Ax2+Bx =} 8 uf, 24 + 3B 9] ZHS
stofe.

12.

> =

> ®™eH: 1

B *
(F4]) =2x - x% - (3x% — 4x) — 3x
= —4x? 4+ 3x = Ax®> + Bx
A=-4, B=3
© 2A43B=2x(-4)+3x3=1




= E
Aolth, A& Wi i 280 YolE x & A5t HEhH?

! 1m

1m

O 2% +x+1 @ 5x+38 @ x2-3x-4
@x2+3x—4 ® 2x2 -5x+4

(x+4)(x-1)=x2+3x-4




14. a=x+2y, b=3x-y ¥, da-3b & x, y o]l T3 A2 YEY
H?

© ~5x+ 5y @ —5x+9y @—5x+ 11y
@ —5x+ 3y ® -5x+y

4a-3b = 4(x +2y) - 3(3x - )
=4x+ 8y —9x + 3y
= -5x+ 11y




15. bx-3y—-7=-x+9y-1 Y, -5x+2y-1Zyc] B Ao=
VR ay + b 2 @k a + b 9] 22

@—14 @ -10 ® -5 @ 10 ® 14

B ‘

5x—3y—7=—x+9y—1, 6x=12y+6, x =2y+ 1 HY3}4,
(FA) =-5(2y+1)+2y-1

=-10y-5+2y-1

=-8y—-6
T a+b=-14




o, (—4)? + (=2) = (-2)* oI x +y 9 W= Tt

@ 8 @®)10 ® 12




o2 A& WSk a, b ol tiste] 2a - 36 O 27 (Hon 2

29 %42 -8 =25
(_1)n+2 % (_1)n+3 =)

@11 @ -11 ® -5 @ 5 ® 8

B \
A9 4
D29 %2423 =20443 95 - g =4
= W 4
: (_1)n+2+n+3 _ (_1)2n+5 — b b=-1
L 2a-3b=8+3=11




18, 32%(9" 4+ 9% + 9%) = 243 ), x 9] S F5loi et
=t

>
[> o= 1

oH .

3 x3Ix3F =3l =350]|B2 4x+1=5

Soar= 1




19. PR o) ojm g wok @ Ag B HAEY

22 -Tx+3

TRl Egict. A A ke Foi)

2 -1lx+4 5x2 —3x+2
o — OXT ToXT 2

®

2 4
@10x2—9x+1 @ 10x% = 21x+9

4 4
21x% - 9x + 11

© 4

B ~

ol A& Azt 5}l

3x2 —4x+1 202 —Tx+3
oF TR o 22 T

2 + 4
_A_2x2—7x+3_3x2—4x+1
R 4 2

_ 22 -Tx+3 6x>-8x+2

N 4

_—4x2—|—x—|—1

4

whatA upe A Astet

3 —4x+1 -4’ +x+1
2 - 4
_ 622 —8x+2 -4x®+x+1
4 - 4
10x2 —9x + 1
4




20. 5a — 3b 3a—|—5b:

~b 2 a ol Wte] B

T+t 2a —b 5 a o Tsto] =

@ a=3b @a:—3b @ a==-b
3 3

@a—z @G——Z

B

5a—3b 3a-+5b
3 4 1 =2a-b

4(5a — 3b) + 3(3a + 5b) = 24a — 12b
5a = —15b
~a=-3b




